|

LR 244F

FEE66[0

RS FFR

—— \E2H —a—BER
25EI(Z 3=
TFNART YR R—)ILBFIE w [HEELCPATAE
% . R
FRE244E6 A98 (1) " =t
SVEEN RSB A HELE ; AT
A7 Oyo g2 T
60 {/"
F—LA F—LB L —F
24 Tst 12 . B 50 .
/\ 80 12 2nd 27 94 iﬂl E* s 40 - A
(i ) A (1JFE)
[ - | 30
R 19 4th 24 .———«/n/‘/‘:‘ 1
20
.// Lo—
= = 3P 2P FT TINTOF N Savs |, . - 10 .
5 E & 5 [ wo | g6 [ mw | g s [ es = M or [ or |27 7| T P AR
4 EéEE TE 23 3 1 5 15 4 1 2 2 3 0 3 L 5 ° 0 2 4 6 8 10 12 14 16 18 20 22 24 26 28 30 32 34 36 38 40
5 |k b 18 3 6 2 4 5 6 2 3 7 2 5 1 1
A 2 0 0 1 2 0 0 2 0 1 0 0 0 0
7 |E EXE 0 0 0 0 0 0 0 1 0 1 0 0 0 0 78N )
8 |HW AYA 0 0 0 0 0 0 0 1 0 0 0 1 0 0
EEETD 8 0 0 3 5 2 2 3 3 5 2 1 0 5
10 |#BA &F 19 5 15 2 4 0 0 3 0 1 2 1 0 4 By =T
11 [gR) = 10 2 5 0 3 4 4 0 0 5 2 0 0 4
12 éi’ iﬁ; 8 8 8 8 8 8 8 8 8 3 g g g g F1P WMF—LN—T3A—k XY= TH—LEHR, \NBIXH#EKRT. #115R)IDO3P
14 TAF BT 0 0 0 0 0 0 0 0 0 0 0 0 0 0 PLIFLEYAEHEIPT—RIZ16—4, BEEELa—rEAEIRESTRELLVRA—RE
15 =@ 2% 0 1%, EHITNEIE# 11 BRI OEFHI)—RAO—TH R, RL#6MBOERFRTONT
6 (@6 s 0 LK, 24—12/\E)—FTE1PET,
17 (W@ Fo% 0
18 |1FE XS 0 Hop N\NEN—TO—,IY—TV BEF1—2—2Y—FA—)La—k-N—Ta—E
—F|E X # F 2 1 2 FIVOUTTFAIIVRATNEDRNEES BERDAE—FIZHIETELLG o=/ \E L
0 | 1 7 11 1 2 14 | 10 [ 24 1 2 21 5 s -4 S 561 | R
féx 335.1%3 339.4%33 565_2% . T 34 8 3 EXO#TER. #8BIFREEAHEIND, 36-39FER—FTHE2PET,
FIP MF—LN—TIA—bIY—TUNBAD BERDTAIIVRILFELLD/NED #
- - — — = 4ABMA(FITERYDVTILKA, BERDH# TRV YIZAT EGER B R, COEYAR158 A
5 k& P B I I s Rl T e il Rk 1 e DEHE. 61— 70HEERA—FELIFEIPRT,
4 vk wE 2 0 2 1 2 0 0 5 0 3 2 1 0 4 . . Lo
5 |[F+oay57s £3 22 0 0 10 | 20 2 4 1 4 7 5 1 1 0 FEAP MF—LN—T72—rIY—T  BERDRAE—RET Ly v—IZN\EIXEHEE
6 ﬁ;’a N H 15 0 1 6 14 3 6 3 6 1 1 2 0 1 HhERIZESNG66—76 TAM LTIk, NEFA—ILa—bIY—T 0TIy v—ED
1 |EBE s 21 1 1 9 15 0 0 4 4 5 1 6 1 5 =L\, Fro ANENENELEN BERF1—2—2V—IZEL. BERDRNTL—
8 |H Fi# 1 1 7 1 4 2 2 0 0 1 1 1 0 0 ISN\EE#11DIPTHIG. BEVW—53EBLTREFZTOEFFERYINITHS, TLyiv—
9 |t & 9 0 1 4 10 1 2 5 0 3 1 3 1 1 EMTHITAEERIE—KICME, \NEESIZHL80—94THEX DB,
10 [ #E 5 0 0 2 2 1 2 0 0 1 0 0 0 0
11 |3 =ED 4 0 1 2 4 0 0 5 1 2 1 1 0 1
12 K8 = 0 0 1 0 1 0 0 1 0 0 0 0 0 0
13 =@ BE 0 0 1 0 0 0 0 0 1 0 0 0 0 0
14 | XK@ BEF 0
15 |[&3 #pE 0 0 0 0 0 0 0 0 0 0 0 0 0 0
16 _[4# vhy 9 0 0 2 2 5 5 2 3 1 3 5 0 5
17 |H& %A 0 0 0 0 0 0 0 0 0 0 0 0 0 0
18 |B%H &4 0 0 0 0 0 0 0 0 0 0 0 0 0 0
a—F|— /B WMz 7 10 1




37 | 74

14 | 21

26

26 |

34

15 |

20 |

13.3%

50.0%

66.7%

it

60

i)

2% BHE

Bl

i)

WA -

SEAE

]RA IESA




